Haby Ly L R 5
Gaabyle  Wisduetion 5wt S_d_(&h onS
o H(/.L&u[}ynj ~ (ortheet S & ’h‘
e ongarisrs of a marathon vih o place makers at ntencls of two s J oluions

{0 show the runners how far they have gone. Each ma‘rkm rmubbe‘ ir;n m . :
i e = 1.6km (1 ., complete the table:
miles and kilometres, Using il = 1.6km (1 .p.), comp ] ; bk WGE

im._00000O  w uwwm-00000102
im=¢ \OO : ; . cm 9.7 cn = q | mm
lem= IOO' mn 16 cm = O.I(D m
- 1km = 1,00 m 47 km = ""1000 m
; &M.‘“C—N‘ in = \OOO mm 4,15 m = 0,0[Zﬂ'g n

1km = LO0,0 OO cm 0.0042 km = !QQ cm
16m = lb.ooo

2, Measure these fnes in mm then convert your ansiers fo

(a)

® V;ﬂmnm mm ssam=_0, 000069 '2 kn
213 T em 0.7 CM'O_‘M__M 0.014 mn = OVQO\& o
vosm=_ (OO0 m 3w 212000 m
. i mesm-_ 20,5 m o swems_ S0

@ wcm (E)qE.TM’ »19"“"——~___O“qq3 . 29,1 om = 0,000241 n
03 cm 15-55‘m'mo—m o.00007ma = _0, 00007 i

ot weight s the arrow 1m'=—______\00 o’ 1421 cn? = O’O“LQS K

& E;mca::’ebwmmur&wdghlﬂmmlkghﬂskg.w at veigh : Y \(Ho 00 ot wim=- 0, 00007 f{ -

W » 1kt = i O’QOOOOO.QOO on? 15.6 =_i,6m____cm,
(b) %qtsq i 1m’ = _OM\__ m 0.0047 kn? = ‘Q 00 00000

ot g © sy 1onts C:\. ©00 | o 16'”""";_0_4_\_&_(_*@’
. @Mm‘!k LR vqoo‘ooo ' 3-4x10‘m"M_m‘

34000
1L= lOOO nL 1m = 0:00‘ on?
15 nL = i§ o’ 78 en’ = O.O”% L
mu-__ L300 oL _1451mL-__L-_i1_._L

/ e wsm: 0.044S . uiw.  0,0000093 o
o il waam-_0.10613 1 asxwer- 00156 w
g (2 x9(0) 190 @ 1i-_{0O00 00O . ' 19800 ML i

1kg=_[ 00 () g 3.89-= Orogq’b kg
. Adiferent jug holds itre when ful, how many milltes wil it hod when it

i three-quartrs full? 1engs_ 1, 08\ X9 0.0065 g = .S o
@ B () 20 @ 7 wangye 2OV 00 | sos3 kg = 0 00O 0053 :

23 450 kg = Mg 7m3ng=_0,000 01%3 g
sexwng= ©.0006 ¢ wat- 2610 000 ey

6% 0000

. The diagram shows four 2 e jugs with coffee in them. Whichone contains
500mil?

S
G, How much iuid could 3% ofthe jugs from Qi hoid?

@) 0les () 350ml (@, 3m



